Metric vs. Avoirdupois Conversions
Apothecary, the historical name for a medical professional, is the practice of formulating and dispensing medicine to physicians, surgeons and patients — a role now served by a pharmacist (or, especially in British English, a chemist or dispensing chemist).

The avoirdupois system is a system of weights (or properly, mass) based on a pound of sixteen ounces. It is the everyday system of weight used in the United States. 

Apothecary, avoirdupois, and other unusual units and conversion factors are still fairly common in some fields like medicine. The medical coder must be able to recognize measurement systems and how to convert, if needed, for the placement in medical records.

Conversions may be necessary when documentation of weights or mass are required.

Converting metric measurements:

The metric system is based on the power of 10. Units other than the basic units are created by multiplying or dividing the basic measurement unit by the correct power of 10. 
The three basic units of measurement are:

Gram: 
measures mass or weight


Liter: 
measures volume or liquids


Meter:
measures length or distance

The other units and powers of 10 they represent are:


kilo (k):
thousands, 10³, multiply base by 1000

hector (h): 
hundreds, 10², multiply base by 100


deka (dk): 
tens, 10¹, multiply base by 10


base unit (G, L, M): ones, 10º


deci (d): 
tenths, 10ˉ¹, divide base by 10


centi (c): 
hundredths, or 10ˉ², divide base by 100


milli (m): 
thousands, 10ˉ³, divide base by 1000

Metric measurements are easy to convert from unit to unit because the units represent multiples of 10. Placement of a number in relation to the decimal point represents the powers of 10, so it can be converted simply by moving the decimal point to power of 10 required.
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Examples:


Convert 1g to kilograms = .001 = move the decimal from the “base” 3 spaces to the left


Convert 1kg to gram = 1000. = move the decimal from kg 3 spaces to the right


Convert 1m to cm = 100 = move the decimal from “base” 2 spaces to the right
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